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Exponents: Worksheet -5 

1)  If 
55

5555

22

4444

+

+++
 x 

555

555555

333

666666

++

+++++
 = 8n then n is [ ] 

a) 1  b) 2  c) 3  d) 4 
 

2)  If x-1 = 4-1 + 5-1 then x is      [ ] 

a) 
9

20
  b) 

9

1
  c) 

20

9
  d) 

9

11
 

 

3)  bc

cb

x

−

 ca

ac

x

−

 ab

ba

x

−

       [ ] 

a) 0  b) 1  c) x abc  d) abcx

1

 
 

4)  If 5x+2 = 625 then 5x-2      [ ] 
a) 5  b) 25  c) 1  d) – 5  
 

5)  Calculate the value of (-0.4)3.      [ ] 
a) 0.640  b) 0.064 c) -0.064 d) -0.640  
 

 

6) ..............3125.03 =+        [ ] 

a) 8  b) 3.5  c) 2  d) 0.35  
 

 

7) Given that 512 = 83 and 3.375 = 1.53, find the value of 33 375.3512    

 
a) 12  b) 9.5  c) 8  d) 1.5  [ ] 
 

8) Given that 63 −=x  find that value of x.     [ ] 

a) 216  b) 18  c) -18  d) -216  
 

 
9) The value of (-1728)1/3 is ………………    [ ] 

a) -12  b) -14  c) -11  d) 12  
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10) Write 
125

27
 in index form ……………    [ ] 

a) 
3

5

3








  b) 

3

3

5








  c) 

3

5

4








  d) None of these 

 

11) The value of 
3

11

5








−  is      [ ] 

a) 
1331

125
  b) 

1331

125
−  c) 

125

1331
  d) None of these 

 

12) 3 000064.0 =……….      [ ] 

a) 0.02  b) 0.2  c) 2  d) None of these 
 

13) If xy = yx then 
y

x

y

x








 is equal to     [ ] 

    a) y
x

x   b) 
1

y

x

x
−

  c) x
y

x   d) 
1

x

y

x
−

 
 

14) If n = 2 2  then n4  =      [ ] 

    a) 64  b) 16   c) 4  d) 2 

 

15) If 5x+2 = 625 then 5x-2      [ ] 
      a) 5  b) 25  c) 1  d) – 5 
 

 
 


